111 SR o — R U B i

B= 34,000
() E 5 E 30,113
(U HERR
LEFEE 2,336
2SHEAREMNEE 576
3XEHE 100
4. B 2 Rk 175
5.2 A A e 4L 700
BRI Z R T U 111.5.9
FA THBER(C)F5511105946585%
111 S — S & e
B — 33,900
() ik 30,113
()UK
LEFIEE 2,384
2SHEAREMEE 428
3EETE 100
4. B P2 Rk e 175
5.2 R M 4L 700
BRI 2 R T U 111.5.9
B THBER(Z) FE5 111059465855
111 BB — B R A B S
B— 33,700
() B e 30,113
(R RHERR
LERIEE 2,281
2SHAREMEE 331
3EETE 100
4. B Rk 175
5.2 A(H A M 4L 700

W AGRZ R THBUF 111.5.9

B T 2R ()5 11105946585




1SR — B i

1SS —E R i s

E=tEdd 33,100
(D)ETEE 24,423
()5 4,510
(R REERR
1LEBRIEERE 2,023
2SHEABMEE 1,169
3EEGE 100
4 HEE V7 R E 175
5.8 RFH L 4EELs 700
PE S E4EE 30,108 I
Biedd 33,400
(D)EHEE 24,423
() 4,510
()RR
LERIEERE 3,036
2SHABMESE 456
3EEGE 100
4 HEE V7 R E 175
5.8 RFH F 4EELs 700

MRS E S AH| 30,108 T

E=EHAE 33,800
(D)ETEE 24,423
()5 4,510
E)EEHERE 390
()R Rk
1LERIEESRE 2,287
2SHEABMEE 1,215
3XEEE 100
A HB V7RI E 175
5.8 R{FF K 4eELs 700
ME ST ESEE 30498 T
E_EARE 34,100
(D)EHEE 24,423
()& 4,510
E)EEHERE 390
()R ik
1LERIEERE 3,394
2HEAEMEE 408
3EEGE 100
A HBE V7 R E 175
5.2 R e 700
MBS ESEE 30,498 T
- 34,700
(D= FEE 24,423
C)E—5E 4,510
E)EEHERE 110
(PY)EE RS (s R 400
(FO)RUA IR
LIRSS 3,577
2SR EE 255
3EXEHE 100
4B P REE 175
5.8 R 4L 700
6.3k s 450)
PSR ESEE 30,618 JT

I/%} %" q = TR
B P aysz 2 2 008 % 158 % 2304737
2. TR g el g * 3y

facd
<l
&
™
EON
®

—
e
4
|
v

o

g
4 Fc3 RN E 5111003750945 & F
4 4RI E 5111009275045 & 31w




1NEER5IFHF PR (R

% P &3 s
& 5 hetg
L # B
Fofd BZ pARE 2287
P 3- iéw 2023
P 5 pARE 3394
P B Aé e 3036
e - 3577
e —_— 1592
e - 1640
P B - 1537
GPT I 288
ESL I 456
E e kv AR [111.03.08%
[N 100 $ck(= )3 % 11101895595 &)
o ZREFZER BT SRR
gil—‘z"ﬁ‘ﬁ?’ 175 Ti[gjr-/‘@q;?;(%?ﬁ‘y’goﬂ"] %
L E 700 i B HF R
2l BB RFEERPERAETY G )
S g me 1800~ | EKF > FEF
Sk Y % 7 1800~ e A .
K4 B3 240~/ 5 & nz@ﬁ%é?%ﬂﬁ@ﬂw
2 35 4 0 BB S B PG R
PABETER | R- 2R 100
B B ¢ 100




111255 -SSR

[l ] B w0 H AREE ki kL > 4RER B3
= €7 21431 0 202, 300 202, 300 0
TEE%T 21431 0 359, 250 356, 125 (875)

A F k3R 21434 0 1,582, 667 1, 586, 293 (3, 626)

R 2144 0 14, 801, 110 12, 046, 039 2, 155, 071

RiLEF 2145 0 9, 637, 732 7,890, 319 1,747,413

x#£3 ¥ 21431 0 0, 186, 163 0, 186, 163 0

R- R & 21436 0 431, 760 431, 760

B- R HF 21436 0 219, 800 219, 800

RERME & 21436 0 1,413, 000 1,413,000




